With 2-Digit Answers

How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?
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Target Number = ¢8

Target Number = 57
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How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?
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Target Number = 52
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How close can you get to
the target using the
humbers below and
+y =y X OY +2?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?
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Target Number = 3¢
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How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

Target Number = 50
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How close can you get to
the target using the
humbers below and
+4 =9 X OY +?
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Target Number = 43
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How close can you get to
the target using the
humbers below and
+y 7y X OY +2?
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Target Number = 13
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How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?

Target Number = 80
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How close can you get to
the target using the
humbers below and
+y =y X OY +2?
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Target Number =7
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How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?
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Target Number = 39
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How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +?
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Target Number = 71

Target Number = 67
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How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?
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Target Number = 45

Target Number = 40
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How close can you get to
the target using the
humbers below and
+y =y X OY +2?

How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?
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Target Number = 52

Target Number = 99
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How close Ccan you get to
the target using the
humbers below and
+4 = X OY +?
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Target Number = 11
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How close can you get to
the target using the
humbers below and
+4 =9 X OY +?
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Target Number = 62
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How close can you get to
the target using the
humbers below and
+y 7y X OY +2?

Target Number = 18

How close can you get to
the target using the
nhumbers below and
+5 =y X OY +2?
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How close can you get to
the target using the
humbers below and
+y =y X OY +2?
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Target Number = 38

Target Number = 70
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How close can you get to
the target using the
humbers below and
+4 =9 X OY +2?
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Target Number = 49
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